13 TR EE
B &

th[a: y z} 95,

(1) 2Hh 5 =% ¢ = p(r) DA (gradient):

&P&P&P]

Or Oy Oz ='les @y ¢

gradasz@zt[

Q) RIIVGBF=F(r)=" [Fl (r) Fy(r) Fg(r)] DE%E (rotation, curl):

9 9
% F oyl — gz 12
rot F=cwlF=VxF = o x |Fy| = %Fl—%Fg
& F3 EFQ_@FI

B)YRIIVEG=G(r)=" [Gl(r) Ga(r) Gg(’f‘):| DFB (divergence):

21 [e

2 oo o, 0
WG =V-G= L] |G| =G+ 7 Got oGy

2 e ! :

¢l 13.1.F=t[yz 3z z}@t%,VXF:t{—&U Yy Qz].
fl 13.2. G=" {xQ +y sinzyz ezyz} DEE, V-G =2z +xzcosryz + xye*VZ.
HE 13.3. C?HDAHN T —15 o ITH LT rot(grad p) = V x (V) = 0 B D LD, ThERE.

L 13.4. C?PHORZ bV F Iz LT divitot F) = V- (V x F) =0 B0 iD. ZhERtE

EoEE
I 13.5 (MAFAEOHAAR). [ =[0,0)  ARHAKME T 5. 2O & T L O OB f(2) LT

b d
| Got@ds = 0 - f@) (1)

B D 0. (it A T OB O = {a, b} SR L BIELIA B I ENTE D))

T 13.6 (FIEIC & 5 RWIRES). C 22BN SIS DRI E AT s hzfifiy U, 20Nz A,
ke BT, COrE MR C ESUERNT O MOAN T~ o = o(r), Zt[z y Z] TRLT

/ (grad ) - dr = / (pzdz + oy dy + ¢. dz)
c c
= ¢(B) — ¢(4) (2)

AED LD, (R I C OB 0C = {A, B} 5L BMERASZ ENTES.)

19
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